Name

Reteaching

Greatest Common Facto

The greatest number that divides into two numbers is the greatest common factor (GCF)
of the two numbers. Here are two ways to find the GCF of 12 and 40.

List the Factors

Step 1: List the factors of each number.
12: 1,2,3,4,6,12

40: 1, 2,4, 5, 8,10, 20, 40

Step 2: Circle the factors that are
- common to both numbers.

12: 1(2)3,4,86, 12
40: 1(244)5, 8,10, 20, 40

Step 3: Choose the greatest factor that is
common to both numbers. Both 2 and 4
are common factors, but 4 is greater.

Use Prime Factorization

Step 1: Write the prime factorization of
each number.

12: 2x2x%x3
40: 2x2x2x5

Step 2: Circle the prime factors that the
numbers have in common.

12: (@\]x( 2% 3
40:‘\8/><\2 x2x5

Step 3: Multiply the common factors.

2x2=4  The GCFis 4.
The GCFis 4
Find the GCF for each set of numbers.
1. 10.70 10 2.4,20 4 318,246
a. 18,65 9 s.i7,31 1 6.14,28 14

7. Number Sense Name two numbers that have a greatest common factor of 8.

16 and 24

8. Geometry Al's garden is 18 feet long and 30 feet wide. He wants to put fence
posts the same distance apart along both the length and width of the fence. What is
the greatest distance apart he can put the fence posts?

©
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Practice

Name 61
Greatest Common Factor T
Find the GCF for each set of humbers.

1. 12,48 2. 20,24 4 3 19,22 1

a. 24,100 4 5. 18, 130

7. Number Sense Name three pairs of numbers
that have 5 as their greatest common factor.
Use each number only once in your answer.

sample answer: 5, 10; 25, 30; 50,

o

8. The bake-sale committee divided each type of item [ Bake Sale \

evenly onto plates, so that every plate contained | Donations
only one type of item and every plate had exactly the

Muffins 96

same number of items with no leftovers. What is the ioks 48
maximum number of items that could have been i E(’;e”asd sticks o

placed on each plate? | B

12

9. Using this system, how many plates of rolls could the
bake-sale committee make? 3_
10, Using this system, how many plates of muffins could 8
the bake-sale committee make?

14. Which of the following pairs of numbers is correctly listed with its
greatest common factor?

() 20, 24: GCF: 4

B 50, 100; GCF: 25
C 4,6, GCF: 24

D 15, 20; GCF: 10

12. Writing to Explain Explain one method of finding the greatest
common factor of 48 and 84.

r.

can use prime
oF of 48 and
by multiplying their common ori
factors: 2 X 2 X 3 = 12

@ Copyright 45 Pearsen bducaien, e, i alahsies. Al Rights ireprved 6




Name Enrichment
. 6-1
Factor Fiction
1. Complete the table below. For each square, write a number that Reasoning
fits both the rule of the row and the rule of the column Do not use
any number more than once. NSWers are given.
Is a multiple Is a factor Uses the samé“ Sum of its
of 3 of 3,860 digit twice digits is 12

Is divisible
by 6

66
o | 21 | 33 | 22
s & multple 40 55

Write True or False for each of these statements about greatest
common factors. If the statement is false, explain why the statement is
wrong and give an example.

2. A pair of numbers each greater than 100 will always have a greater
GCF than a pair of numbers that are both less than 100.

ng Whaie ‘§§

3. The GCF of a pair of numbers is always equal to or less than the
lesser of the two numbers.

4. The GCF of a pair of numbers can never be equal to one of the numbpers,

False. The GCF can be equal to the
| ) and 15

is 15,

Copyright & Poarsan Silugation, o, ol afihatos All Ricghais Praorcd, &
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Name

Least Common Multiple

There are different ways to find the least common multiple (LCM) of two
numbers. Here are two ways of finding the LCM of 4 and 5:

List Multiples tIse Prime Factors

Step 1: List multiples of each number. Step 1: List the prime factors of
4: 4, 8,12,16, 20, 24, 28, 32, 36, 40, 44, 48... each umber.
55,10, 15, 20, 25, 30, 35, 40, 45, 50... 42 K2

Step 2: Check the multiples the numbers have in cornmon. 55

. Step 2: Circie the greatest number
4:4,8,12, 16,20 24, 28, 32, 36,&0) 44, 48... of tmes each different

5: 5,10, 15,20) 25, 30, 35,@0) 45, 50... factor appears.
Step 3: Determine which of the common multiples is the 42 XD
least. 53
50 and 4C are both common multiples, but 20 is Step 3: Find the product of the
the lcast. P : i

factors you circled.
The LCM of 4 and 5 is 20.

Find the LCM of each set of numbers.
.67 42 2.45 20

a. 2,5 10 5,611 66
7.310 30 8. 510 10

10. Number Sense If you know the LCM of 4 and 5, how could you
find the LCM of 40 and 507

Liitipl

“

d 5 by 10.

11. Writing to Explain Peter says the [east common muiltiple of 4 and 6 is 24.
Do you agree or disagree? Explain.

@ Capyrcht o Fearsio: Edicatizn, i, or s atalaies all Riggls Rasorwed. 6



Name
Least Common Multiple

Practice

6-2

Find the LCM of each set of numbers.

11.

12.

13.

.59 d4h 2. 4,10 20 3. 8,12

7.12 H4 6. 3,7
.78 26 9. 3,12
. At what times of the day between 10:00 A.m.

and 5:00 p.v. da the chemistry presentation and the

Science Museum

recycling presentation start at the same time? — Show Schedule —
w 4 1 =30 A.M” Chemistry - Every 10 minutes !

- Electricity — Every 20 minutes
Recycling - Every 6 minutes

100, m 300 o o 230 P, 3

ga"m“‘? Fossiis  — Every 45 minutes
3:30 p.M., 4:00 p.M., 4:30 P.M.
The museum does shows in schools every Monday The first showing for ail shows

and shows in public libraries every fifth day {on both

is at 10:00 An.

weekdays and weekends). If the museum did both a
schoo! show and a library show on Monday, how many
days will it be until it does both shows on the same day again?

davs | _

Which of the following pairs of numbers is correctly listed with its
LCM?

A 5,10, LCM: 50

{B) 2,3, LCM:6
C 2,6 LCM: 12

D 7,9 LCM: 21

Writing to Explain What method would you use to find the LCM
of a group of four numbers? Explain and give an example.

.

wer: prime factorizatio
1, 6, 8, and 10,

Copys ght s Bearsos bduation, s, o
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Name t Enrzh;ent J
What l'S the Pattern? ot it 4

Look at the shapes in the grid to find the pattern. Then complete the Patterns
missing section in the center.
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Reteaching

Name -

- L] o n 6-3
Understanding Division of e
Fractions
Divide a fraction by a whole number. !

Ty 01
Find 1 + 4. 8|g|8|&|8|8|8
Use a model to show . -
Divide each eighth intc 4 equal parts.
; 1 . 1
Each section shows EE il
1 Ao
1 4=
Solve sach division sentence. Use a model to help.
e
2.1+4= 20
A
4, 1+8=_ 5B
Find each quotient. Use a model if you wish.
Simplify if possible. 9 1
5. 6. %-10=7900  7.l+3= 15
1 . —
8. 9. 5+1= 1 10. ;+6= 12
11 12. 2+ 4= o= 18. £+7=
' iz T 48 77

14. Draw a Picture The square dancing club meets for 3 hours. Every% hour, the
dancers change partners. How many different partners wiil each dancer have in one
meeting? Draw a picture to show your solution.

+ 4 = 4; 4 partners.

15. Writing to Explain Explain why the quotient of two fractions less
than 1 is always greater than either fraction.

@ Copyrighs © Peaswon fducat nn Ine o ins albiliates Al Rights Heserves, 6



Name Practice

. Lo 6-3
Understanding Division of
Fractions
Solve each division sentence using the models provided.
13+ g= 2. 7+ 6= ;‘2% 3.5 6:§%'

. 1 | . : — i1 1l | o
IR N i A
O % % v % %

13. Draw a Picture Olivia has a piece of ribbon % yard long. If she cuts
it into 6 equal pieces, what will be the length of each piece, in yards?

ck students pictu

14. Geometry A regular polygon has a perimeter of 12 units. If each
side measures 31 unit, how many sides does the polygon have?

1

15. Which division expression is 1,2 3 (45 6,7 8 9
shown by this model? O — 1T T [ I ;
0 =N
10
o1 9 . -9
B 1+ C 1 D 10+ 35

16. Writing to Explain When you divide a whole number by a fraction
less than 1, will the quotient be greater than or less than the whole
number? Explain, and give an exampie.

fraction parts tha

i o o o4 . g / . 8 .oE Y A .t

1; 3 / 2 i 3
\ A

Fach sation W
I
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Enrichment

Name .
Canine Cou nty i

Look at the map of Canine County below. The road from Dachshund o Estimation
Labrador is 15 km. Use this information and the map to answer
the guestions.

tabrador

foodle Bulldog

15 win

[Pachshund

Spanisl

Retriever

Husky Beagle

St. Bernard

Great
Daneg

1. The road that connects Dachshund and Labrador is about the
me length as the road between which two towns?

striever and Beagle

2. Which two towns are about 32 km apart?

spnaniel and Great Dane

3. About how many times as long as the road from Dachshund to
Labrador is the road between Labrador and Poodle?

Abo times

4, Which two towns are about four times as far apart as Husky and St. Bernard?

Bulldog and Poodle

5. Between which two towns is the road about 2% times as long as
the road from Dachshund to Spaniel?

'i o

6. The bicycle warehouse is about % of the way from Bulldog to
Beagle. About how many kilometers would a truck drive to bring a

Capyr ght € Fraror Bdiscation, Ine, arits affiaceca Al & ghts Besereco, 6




Reteaching

Name |
o 6-4
Dividing Whole Numbers by —
Fractions
To divide a whole number by a fraction, you can multiply the whole
number by the reciprocal of the fraction. The reciprocal of a number
has the numerator and the denominator reversed. The product of a
number and its reciprocai is 1.
Number X Reciprocal = Product
3 X 3 — 1
1 8
0 3 _
Find 14 + 2,
Step 1 Step 2 Step 3
Rewrite the division as Divide out common factors | your answer is an
multiplication using the if possible. Then multiply.  improper fraction, change it
reciprocal of the divison to a mixed number.
7
. 4.7 49 _ 1
The reciprocal of 5 is 4. ? x L= % F =245
2

SHew

.4
4. 12 + 4 B
7. 24+ 3

- 8
10. 36 = &

13. Karolyn makes rolls for a friend’s dinner party. She uses 3 b of
butter. Each stick of butter weighs % ib. How many sticks of butter
does Karolyn need to make her rolls?

12 siicks

H 6‘4 Cooyrighs < Pevrsan Douration, Ino, o e 28 ligwer AR Rigias Renoesved,



Practice

Name __ . ﬁ -
Dividing Whole Numbers by N
Fractions
Find the reciprocal of each fraction or whole number.

g i 3
1.3 5 238 3§ 3z 7

Find each guotient. Simplify if possible.
4.8+2= 20 5. 4+1l=

7. 12 =

10. 20 +

13. 9+%

16. Writing to Explain Will the quotient of 5 = % be greater than or less
than 57 Explain.

The guotient will be gr
dividing by a number that is |

than 5 becaus are

than 1.

17. Reasoning How many times will you need to fill a% cup
measuring cup to measure 4 cups of flour?

18. Geometry The distance around a circular flower bed is 36 feet.
Jasper wants to put stakes every 8 inches (% of a foot) around the
bed. How many stakes does he need?

stakes

19. Algebra Which expression is equal to 8 X %?

wR Moo Wi

O 0,
©
PI|La
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Enrichment

Name {
What'’s the Fractlon Pattern?

6-4

The fractions in the chart form a pattern.

1. Complete the chart.

Patterns

1

—
Y
—
—_—

L | 1
2 3 ‘ 4 5 6 7 8

CIE SRS IS

—4

. M B o~y

o 5
[/ S I T I S
2] 3] 4 6

2. Describe the pattern.

Fractions in the 1st row are muiﬁg&iim

y get the numbers in the 2nd row

he numbers in the o 1

by 4 to get the numbers in tF

and by 5 to get the numbers in the 5th row.

3. How wouid you find the numbers in the 100th row of this pattem'?

h fraction in th




Name
Modeling Division

f Fract

You can use fraction strips to divide fractions.

. 1 .
Find 3 =

a2

Use part of the strip for thirds to show 1.
strip for thirds.

L
3

1
3

ions

Reteaching

6-5

Then place the strip for sixths below the

1

6

1 A
6 6

1
6

1

&

1
5

Count how many sixths are as long as the

i 1
strip for 3.

Two sixths are as long as %
50,3 ¥ g

1
4
LI [ T T O s O .
12 |12 |12 {12 [ 12 | 12
5 i 3 g7
A 1 1 1 L
a 5 5 4
e 00 T e W s S e Y O s O A S S U I I O L e
10 {19 |10 |10 | 10 | 10 | 10 | 10 [ 10 | 10 8 8 8 8 8 8 3 8
Find each quotient. You can use fraction strips to help.
52_l: @ 63_1_ ﬁ 71..;~lr gg'
38— 50T S T

8. Writing to Explain Why is the quotient of two fractions less than
always greater than either fraction? Explain.

ar th

the fractions

g by a number less than

s

Copynght % Pearson Ddusation, Inc, b its afaliaTes AN Righils Rewervad, &



Practice

Name |
6-5

Modeling DIVISIOI‘I of Fractions

Solve each division sentence using the models provided.

5 .1 Iy FC P B
1. & B “3 v 2. 5 710 Jm__
el | | | — i 1L
- [ [ [ [ ! [ - 107G 146 "0 3010
0 % 1 il
e gg—

5.1 +1 7
ho 5
8'8 15

9. Draw a Picture Olivia has a piece of ribbon % yard long. She will cut
it into pieces that are each > yard long. How many pieces will Olivia
have?

students’

tures; & pieces

10. Writing to Explain Write an explanation for another student telling
him or her how to divide £ by %

third is eqm to = % divide eam mard in h

------ sixil
11. Which division expression is shown by SRR UL SV -
the model? (lj |
L L9 1 .09 1 .1
- L B1+3 Cw* Do 7o

12, Algebra Which equation could you use to find the number
of g-inch pieces that can be cut from a piece ot string that is
of an inch long?

=n B -+

A X

Iu|—
[$a][es}
&
N
il
3
et
bt
]
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Enrichment

Name . - 6.5
In each of these problems, some numbers are missing. Read each Reasoning

problem. Then circle the letter of the correct way to solve the problem.

1. You are buying books at the bookstore. Each book you buy costs
the same amount. You know how much money you started with
and also how much you have already spent. How many books can
you buy and still have enough for a set of bookends?

¥ Add the cost of the bookends to what you have already spent.
Subtract that amount from the amount of money you started with.
Divide that number by the price of a book.

B Subtract what you have already spent from the amount of money
you started with. Add the cost of the bookends. Divide that answer
by the price of a book.

C Subtract the cost of the bookends from the amount of money you
started with. Multiply that number by the price of a book.

2. You are making lasagna for your friends. You know how many
people your recipe serves and the amount of each ingredient you
need. More people will be eating than the recipe serves. How will
you change the recipe to make enough?

A Divide the recipe ingredients by the number of people who will be
eating.

B Multiply the amount of each ingredient by the number of peopie
who wiil be eating.

Divide the number of people who will be eating by the number
the recipe serves. Multiply that answer by the amount of each
ingredient.

3. You know how many hours you have between the end of school
and bedtime. You also know how many minutes you spend doing
homework. How can you find what fraction of the time after school
you spend doing homework?

A Muitiply to change the after-school time to minutes. Divide by the
minutes of homework time,

(B) Muttiply to change the after-school time to minutes. Divide the
number of minutes of homework time by that product.

C Divide the hours of after-school time by the minutes of homework time.

@ Copylaintt £ Pearsost Educatior e, or 1 afiliates, Al Eghuy Sevorecd. 6



Reteaching

Name
6-6

Dividing Fractions

To divide by a fraction, you can multiply by its reciprocal. The reciprocal
of a number has the numerator and the dencminator reversed.

1 - 3
Fmd% - 3

10
Step 1 Step 2 Step 3

Rewrite the division as Divide out common factors  If your answer is an
multiplication using the if possible. Then multiply. improper fraction, change it
reciprocal of the divisor. to a mixed number.

The reciprocal of 2% is 22,

2
_ 8 8 _0n2

4
A
i

4 21 1
1.1 _1 ﬁ_ 4. 8 5 el 13
1 g+g=5% — 2. 77 HA— -8 —d—
f
Reciprocal of % Reciprocal of —287
3 1 - 2 4 2.2 3 5 5.7
6 3 3 ] 7 1 . 8 "3— 8 5 1
r 7 Y S 3739 8 "6 8
g 5 .1 1} 10 3.3 ';4; 11 3 .5
9z e’ B "5 4 S 48
1 8
9 . 4 1.3 4 .3
12. 5+ 5 1& Wgry 5§ 143+7

15. Aaron has Z gallon of bottled water. How many -gallon servings
can he pour?

S servings

16. Draw a Picture Show how Rebecca can divide % of a cake into
9 pieces. What fraction of the whole cake will each piece be? _

@ Coaprpaght 2 Prarson Lilueations, o, ot af=lizees, AlFRights Reserves, &



Nagme 3 Practice
6-6

Dividing Fractions

Find each quotient. Simplify if possible.

-2 3 11
Liegs B 2ge= B sgege 2
4. 5-5= 9 5. 8+3= ‘i? 6.2+3= ¢

1.3 = %35 5.2~ § 4.2 = 2‘3‘
7. 2 710 g% - 8. 12 7 3 _V 9 157 5 f__
10. 1+3= 9 1. 3+4= 32 12. £+8= ‘2

13. Writing to Explain Serena said that by looking for common factors
and simplifying the expression, she found that io + % = 1% Do you
agree with Serena? Why or why not?

5
Hoyw 8 = B = 1%

14. A -~~yard piece of fencing is made of boards that are -5 yard wide.
How many boards make up the fence?

10 boards

15. Nathan has 7 Ib of hummus. How many % —Ib servings does he
have?

15 8 ervings

16. Algebra Which equation can you use to find the number of %—inch
pieces that can be cut from a piece of meatal % of an inch long?

Iu| = oolin T folem
en fulee @ith Ia|—
| It
s 3

X
[
>
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Enrichment

Name
] 6-6 |
And the Winnerls... SPR—
Anita grew giant sunflowers from ten different kinds of seed. She Reasoning
named each patch for one of her favorite cousins. At the end of the
summer, she graphed the height of the tailest flower from each patch.
Answer the questions using the clues below.
The Tallest Sunflowers
1]
£
W
=
[
3 4! 5 8 7' 8
Meight
Ed is taller than Ned. Ned is taller than Red. Red is taller than Ted. Al
is taller than Red, but shorter than Ned. lke’s bar is between Sai's and
Todd’s. Todd is shorter than Ed, but taller than lke. Van’s bar is between
Ed’s and lan’s. lan’s bar is next to Todd’s. There are seven bars
between Van and Ted.
1. Which is the tallest? Ed
2. Which is 4 ft tall? Ted
3. What is the mean of the heights of the flowers? 6fE3e

4. What is the median of the heights of the flowers? What is the name
of the flower at the median height?

fi had that height.

]

5. Which flowers represent bars B, C, H?

Red, Al, lan

@ Cospryprisg o7 Prarson Cilue ation, vz, on it af™ Tates, AlLZight Beserved. 6



Reteaching

6-7

Name

Estimating Mixed-Number
Quotients

When you are working with fractions and mixed numbers, you can
estimate using rounding and compatible numbers.

H 5 . 3 i 1 - 5
Estimate 236‘ + 85 Estimate 31g : 45.

233 < 83 Round each mixed 31 + 4% Change 315 and
number to the 4-2 to the nearest
nearest whole compatible whole
number. numbers.

24 + 8 =3 Divide. 30+ 5=06 Think: 31% and 4%

are close to 30
E . o3 .. 1+ 45 -
23 ~ 85 =3 31g 4% =6 and 5.

=1 I 3 . a5 .
4, SJE . 5 61‘8‘ 8§ g~ g
3 9 . nb 2 . 3
7. 862 + 1 8.26%-28 9 9 11z:3 3
g 6 - 71 5 . g4
10, 72 + 2 o Mars 7l qpe05 -5t 10

13. Critical Thinking Which of these two estimates is closer te the actual guotient?
How do you know?

Lisa’s estimate: 553 + 62 = 54 + 6 = 9
Hayden’s estimate: 551 + 62 = 56 « 7 =

Sample answer: Hayden’s estimate is closer because he
to the ﬁﬁgi ial

14, Patrick uses wire to make wreaths. He has 31; feet of wire left on
a spool. Estimate how many 3% pieces can he cut from the longer
piece of wire,

Sa

@ Cooyright & Poseson Educat gn, Inzeos s s hates 81 Siglas Reseryes, 8



Practice

Name 7
Estimating M|xed Number e
Quotients

Estimate each product. S@Mple answers are shown,

1.375+60= 6§ 225;+6;= 4  3.4% 6= [
4125 85- 2 6. 852%= 3
7. 67} + 72 = 9. 198 -4l=§

10. 71 + 78 = 12. 797 - 83 = {{}

18. 265 + 2; = 15, 581 + 192 = 3

16. Number Sense Tran wants to cut strips of paper that are 2% in. wide.
His sheet of paper is 11} in. wide. He estimates that 115 + 22 = 6,
so he can cut 6 strips from each sheet of paper. Is his estimate an
overestimate or an underestimate? Explain.

- 6 is an overestima
the paper up and th

17. Writing to Explain Eliza uses 2% feet of yarn in each gift basket
she makes. Explain how to estimate how many baskets Eliza can
make if she has 22 feet of yarn

Sample answer: Divide 22 by 27, Use compati
to es% matg 21 + 3 = 17,50 she h h yarn to |

ble numbers
Ke

18. Geometry The area of this rectangle s 25?% sq in. What is the
baest estimate of side length w? Remember, A = ( X w.

A 66,000 in, |
25?3I sq in. 105m.
B 50in.
3 25 in. ”

D 5in.

19. Critical Thinking What estimation method did you use to find the length of side w in
Problem 187

Sample answer: | used
250 + 10 = 25,

nipatible numbers:

@ Capyr ght & Fearsor Lducation, Ing, aries affiliazes. Ab Fights Seserved. 6



Enrichment

6-7

Name » .

Where Shall | Sit?

The parent and teacher committee is holding a dinner to launch the  Decision Making
school's annual fund-raising campaign. Some teachers will be there

as well as parents. Your job is to arrange the seating of the table.

Seating rules:

+ A teacher must be seated at each end of a table.

s |f aman is at one end of the table, there must be a woman to his
right and to his left.

+ |f a woman is at one end of the table, there must be a man to her
right and to her left,

People to be seated:

Mr. Rendeli, math teacher
Mrs. Dillon, English teacher
Mr. and Mrs. Brogan, parents
Dr. Roach, parent

Ms. Loretta Job, parent

Mr. Heslop, parent

Mr. Buonamici, parent

Mrs. Kyle, parent

Mrs. Gonzalez, parent

Sample a

Mrsl Mr
ez FOOAN

Table A

@ Lopyrght e Peatsas Eiliaatior, no, ar 2 affilaze., ATRight deseresd, 6



Name

D|V|d|ng Mlxed Numbers

Reteaching

6-8

You can follow these steps to find 5—%— + 1§ and 21 + 2-3-.

Step 1

First estimate.
Then write each number

Step 2

Find the reciprocal of
the divisor. Rewrite as

Step 3

Look for common
factars, Simplify,

as an improper fraction. a multiplication then multiply.
problem.
- 1 .41 16 4 16 _ 3
Finds+ =14 L e 2
3" '3 3 73 3 %
stimate 5 + 1 16 y 3 4 ;
3" 4 .o _4_yu
P z oA
53 3 1 1
l L 4isclose to 5,
16 4 so the answer is
3 73 reasonable.
Find 21 = 2 1 21 7 21,3
3 1 1 3 i "7
Estimate 21 + 2 = TOE‘ 21 .3 3
177 N 39 g4
1 e 1
21+ 25 1
1
l l 9 s close to 105,
21 7 ,
ETE] so the answer IS

Find each quotlerg S[mpln‘y if possible.

1. 22 + 31 =

reasonable,

3 - al
2. 13 + 4f
4. 57 + 3 =

1 1=
6. 71+ 2] =

7. Writing to Explain Paper needs to be cut for voting ballots.
Each piece of paper s 101 in. long. Each ballot should be
13 in. tong. How many ballots can be cut from one piece of paper?

Six baliots ¢

be cut.

Capyr ght @) Pearaon Edae sticn, Ing,
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Practice

Name ;
| 68
Dividing Mixed N umbers | N ——
Find each quotient. Simplify if possible.
o 9 .48 .-
Loig=25= 2. 4; 3= 125 3257 5;= 22
1 1 = 3 9 e B%”? 611_21_ Q
4. 3L+ 2] = 5. 35 +2= g pTer= 3
- 03 8 21 . —13 — %'_9_ 9 42 13 — 22
7.8 =25~ cpTly= 21t 945 1= T3
10. Reasoning Is it possible to divide 15 by a mixed number and get a
guotient that is greater than 157 Explain.
se you are dividing by a
nuimber that is greater than 1.
i Room Gallons of Paint
| Kitchen 21
Badroom 3%
Living room 41
Max is painting the inside of an apartment complex. The table shows
how many gallons of paint are needed to paint each type of room.
11. How many kitchens can Max paint with 20 gal? 8 kitCh@ﬁS

12. How many living rooms can Max paint with 26 gal? 6 Ii\fiﬁg rooms

13. How many bedrooms can Max paint with 60 gal? 16 bedrooms

14, Find 4} + 21,

Copyright G Postson Feaz2tion, Ino, o i allliates, AERighng Bewerved. @



Frrichment

Name
6-8

A Fraction Operation

Fill in the empty boxes in the puzzies below so that all rows are frue  Nyumber Sense
number sentences. Remember the order of operations: multiply and
divide from left to right, then add and subtract from left to right.

Write +, —, X, or = in each empty box.
1. ;
pt i _
s I R B T
4 8 2 o 2
3.
2 1 1 1
4.
Tl | L ]— | L _ |4¥
6 4 4 32 = |1 32
5.
1 2 — 51 1
34| T |7 3 9551 = |13
6
) 1 2 2 1
4y 3|t |15 = |8%
7 1 7 10
. X L I LA A
11 2 2 222 - 311
8.
o e | - 3
64 4 X3 70 1 8
9.
7 1| o 31
4 8 X2 4 3 o 32
10- 9 1 38
o - LI — wo
1 10 3 4 / 65

@ Copy-ight & Pearses Educaties, ~o, orits af=hztes, Al Big 4ts Reserved. @



Reteaching

Name g
Evaluating Expressmns with -

Fractlons

RN EEN SR

To evaluate expressions with fractions, follow the same steps as
evaluating expressions with whole numbers.

» Replace with the variable with the given value.
« Follow the order of operations to solve.

Evaluate n X % - % ifn=

Replace n with 5. 5 x ‘; — 3
30 _ 2 . 28
Solve. 0_z-2
. - . 28
Simplify the fraction, = -4

1. 3a~ 2 ifa=] 2.3 +y+6ify=1

3. B gf_4 ~3 ify=28
3. Jf= 5 iff=<¢ 4. 6+ 8y — g, ify =3

6. - gxsﬁd—ﬁ

11. Persevere Margaret is ordering mosaic tiles to cover a table top
from an online store. She has narrowed her selection to two different
types of tiles. Tile Ats 1g inches wide and 2“ inches long. Tile B is
12 inches wide and 25 inches long. Margaret wants to order the
lile with the greater area Using the expression / X w to find area,
which tile should she order? Show your work.

Tile B; Tile A is »@% ¢
Tile Bis 1§ x 2] =

Lo pli o]

9.
272
s 3

@ Copyright £ Pearson Education, Ino, o s afiliates, Al Sights Rescoved. 6



N

ame

Practice

6-9

Evaluating Expressions with

Fractions

Evaiuate each expression by substituting the value. Simpilify if possible.

1.

3.

10

11.

2

; J f; .- 3
j4~8*,|fj—z

6] «~r+4lifr=1%

5

2o-g-fno=f 7oy

4w -y xaitw=2_ 13

. a 4
4 — 12 a
6. m+mXgiftm=13 wwﬁ?

8. ¢ xc+23ifc=1

Fvaluate the expression for values of h and complete the table.

— 41
h =4l

3h —

L=

5

. Algebra Sally has 20 feet of ribbon. She is going to cut the
ribbon into equal-sized lengths to make bracelets. She wants
to compare how many bracelets she can make if she uses
different iengths. Write an algebraic expression that Sally can
use to figure out how many bracelets she can make if she cuts
the ribbon into 7-inch or 62-inch lengths.

X 12} = 1, if /

any length

Writing to Explain How would Sally change her expression if
she wants to figure out how many feet of ribbon she needs to
make 100 bracelets?

of dividing by the

d multiply that

en she wo
figure out h any feel.



Enrichment

Name

6-9
Ba ke Sa Ie
Gwen and her mother are going Pecision Making
to prepare some foods for the X - .
school bake sale. They can ftem Sugar | Flour |Servings
choose to bake any of the foods ~ Qalmeal cackles 30 3¢ | 18
in the chart. They can bake as | Pound cake le Zc 12
many different things as they Pumpkin bread 1 e 12c TG
like. Use the chart to answer o e
the questions. Apple cobbler 5 C ‘s .c 8

1. Estimate to the nearest cup the amount of flour needed to make
4 loaves of pumpkin bread.

Sample answer: About 8

2. Gwen wants to take at least two different items. If Gwen’s mother
has 2 ¢ of sugar and 3 ¢ of flour, name a combination of baked
goods that they could prepare for the sale.

eal conkies Unc

Do

3. Which item would be best for Gwen to make if she wanted to make the greatest
number of servings possible while using the least amount of ingredients?

4. Would it take more sugar and flour combined to make the cocokies
or the pumpkin bread?

amount, 3% c.

5. Gwen needs to take enough food to the bake sale for at least
30 servings. What are some different combinations of baked
goods she could take?

er and 2 pound
no cake

rs: 1 apple ¢co
I cookies and 1

6. Estimate the amount of flour needed to bake everything listed in
the chart.

Sample an r: About 7 ¢

@ Copynghi & Pearsor Bilueatior nc, oress alfikates, A Sights Reserved. 6




Reteaching

Name
6-10

Solving Equations with
Fractions

To solve an equation with a fraction, you need to isolate the variable.

8¢ _ 1

Solve 4f = 7.

Step 1 Step 2 Step 3

Divide each side of the Solve for f. Remember to Simplify if possible.
equation by -%. use the reciprocal.

8r. 8 1. 8 =110 =2

(AR R I 1 f=ax3 BRT:

f=10

10. Geometry Helen wants to paint a rectangle with an area of
35 sqguare feet on her wall. If the height of the rectangle is 3% feet,
what is the width of the rectangle? {(Remember, area = length X width.}
Write an equation and solve.

Bw =23 31 feet

L=

@ Ceaoyrighs & Prarson Educaton, o, orits aflinies. AR Rigts Roserveq,



Name
Solving Equations with

Practice

6-10

Fractions

Solve each equation Stmpilfy if possible.

o

10.

11.

. Peggy worked 20%- hours over three days last week. She

worked the same number of hours each day. How many hours

~did Peggy work each day’? Write an equation and solve.

o E‘? Ours eac h

Writing to Explain The children’s room at a local library has
a square-shaped floor with an area of 400 feet. How can you
find the length and width of the room without knowing either
measurement?

Since the floor is square, | know length = width;
P can write an equation: s X s =4
| know 20 x 2 00, so | know
| can checK my equation by s

Reasoning Which equatton do you think has the greater
solution: 1¢h = 31 or 31g = 2? Explain your thinking.
Then, solve 1o check your prediction.

‘E“W 3? hm a greater solution because the
' the multiplier. b = 152,

@ Tepyright o Feacsan Padacation. Inc, o0 its aff fates, AR abes Sosreed. &



Enrichment

Name
L] o 6- I o
Tri-Puzzling —
The sum of the fractions on each side of each triangle is the same. Number Sense
Complete each triangle by filling in the missing fractions.
1. Sample answers given,

@ Cogyrghtl L Pearsan fducaten. Inz, a7 s atlilatzs, All Righrs Reservee, &



Name - Reteaching

6-11
Problem Solving: e
Look for a Pattern

Somaetimes you can solve a problem by identifying a pattern.
Here are two types of patterns.

Patterns in sets of numbers Ask yourself:

Are the numbers increasing?

Are they decreasing?

Do they change by the same amount each time?
Do you add, subtract, multiply, or divide to find
the next number?

1% 13 13 8 7 8 3
a4

ERIv Rl S I i

Patterns in groups of figures Ask yourself:
. How is the first figure modified to make the
ce ees second figure?
e v How is the second figure modified to make the
third?

Remember: Once you have identified a possible number pattern,
check at least two other consecutive numbers to make sure that the
pattern is true for all of the numbers.

Find the missing numbers. Describe the pattern.

1 - :

dd 1
12,1 subtract i1

14710 "&
515:5!5!5 !5 ’5

— !_
H— ;

L

5. Number Sense The tabie below shows the number of cells in a
culture. How many cells will there be at 4:307

\ Time 1:00 | 1:30 | 2:00 | 2:30 | 3:00
‘ Number of Cells 1 2 4 i 8 16
128 cells

@ Coprpright & Pearsor Educatior. lec o ity al®liates A Hialiss Feserved, 6



Practice

Name
6-11

Problem Solving:
Look for a Pattern

Find the missin numbers Describe the pattern.

L2l 26 31
Lé%@'@@ S S
2 1412 4 .8 oly |
3. Mu%igggéy by 1, then
by 2, Then b}; 3, etc.
4, 2 " ]
5.

6. 3.509,15 03

7. Number Sense In the figure, the sum of each row
forms a pattern. What is the sum of the seventh row? oD

4G 4 4 4 4

8. Which figure completes this pattemn?

- L I J
L] L L B ]

9. Writing to Explain How can you find the answer to exercise 7
without finding the sum of the numbers in a row?

@ Copgright L Fraron Deducgtion, e, o e al®lictes, AD g hits Raservae, §



Name

Keep to the Schedule

Enrichment

6-11

Kaya is the manager of the city volleyball league. She has to make  Decision Making
a game schedule that meets the following requirements.

.

There are 6 teams: Robins, Crioles, Cardinals, Bluebirds,
Hawks, and Eagles.

Fach team must play each other team at least twice.
The Cardinals cannot play during Week 2.

The Bluebirds cannot play during Week 4.

Fach team can play up to 2 games per week.

There are 4 games per week.

Make a game schedule for Kaya that meets all of the requirements,
Use these abbreviations: R = Robing, O = Orioles, C = Cardinals,

B =

Bluebirds, H = Hawks, E = Eagles. The first week is done for you.

Sampl 2rS are given.

City Volleybail League Schedule

Week Games

1 R-O E-C C-B B-H

@ Copyr:ght £ Azaran Educaticn, e on it 2 Tiates, Al Righs s Reaerved



